
 

This ist the 4 Port LAN Card: 

Hard. Path MAC       CrdIn    LAN 

0/2/1/0/4/0 0x00215A796030  0   UP    lan0 snap0     1   ETHER     Yes     119 

0/2/1/0/4/1 0x00215A796031  1   UP    lan1 snap1     2   ETHER     Yes     119 

0/2/1/0/6/0 0x00215A796032  2   UP    lan2 snap2     3   ETHER     Yes     119 

0/2/1/0/6/1 0x00215A796033  3   UP    lan3 snap3     4   ETHER     Yes     119 

 

 

On this Picture are Port A – D marked.   

 

 
  

  

  

Can i assume that Port A have the lowest mac (0x00215A796030 > lan0)? 

And the mac „0x00215A796031 „ is Port B etc.  

 


